Year 1 Maths counting in multiples of 2

There are 2 sweets in a packet, and | bought 6 packets. How many sweets do | have?
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s\)%’\ There are 2 stickers in a packet, and | bought 8 packets. How many stickers do | have?

There were 2 cookies in a packet, and | bought 10 packets. How many cookies do | have?

There were 2 lollipops in a packet, and | bought 7 packets. How many lollipops do | have?

There are 2 sweets in a packet, and | bought 4 packets. How many sweets do | have?

ﬁ There are 2 stickers in a packet, and | bought 2 packets. How many stickers do | have?
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There were 2 cookies in a packet, and | bought 3 packets. How many cookies do | have?

There were 2 lollipops in a packet, and | bought 9 packets. How many lollipops do | have?

Challenge/Extension:
Create your own word problem.

Remember to show your working out and answer your question!



